EARAZROREIERT — 2 N—XBISY —F 20155108128 (B) 8mE%FE6H

m‘}%iﬁ%@ﬁﬂ"éﬁC 2t Y5 R—f% ‘ (%) /J\Eﬁ‘ (sl — | 4 (&) 14000 THE
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< . HLER 129, - . - FEEE (KR)
il7l7|773v—rc—2 it 3 bt 1(2_9)2 1-1 39.6 2 fzs) Tt 7
R:xA1=G7—Z B:I91>RK¥AL 2R HE77—»4L
> ILS . 4 3 | SR 1:29.4 2-2 39.6 | — 1 a2 | 1EREHEE (KOR)
2|55 | FTRINVTT1—2 56.0 (1/2) 4o | BARR
RAFAT—IE BiFxvZFCRU—L EvdlLy RT7—L
N mlRE : - — SARERR (KR
S s DESOPZA:E B o e P | BlRE
L:27)—rbe—A— BNFHE4 XXy — 5% EE
N NN ® ARFBE :30. - . — RINRE (KR)
4l 7V=—>v=" it 4 al 1(3185 5-5 40.2 6 <4+326> 2% i
LNAT—=F—L B:XF—7U—-Z> fisibie]
. SRR :30. — . — REEM (KR)
N NEES I #8280 e g7 | B2 e
L:Z2F4d— K B:aXE70-7 AXETa—T7—~4A
g o4 | BEXIE 1:31.0 2-3 Mn2l — 8 444 | BEEREE (RER)
6l8/g| F7 hILEL 56.0 (11/2) (o) | B=E=
R hU— BiAL/HUIAL kB m
NP KiFIE : = — iR (R
2 o | L=>rx1my B 7 P (11.311/.2% 7-8 40.3 7 (4_413) it
L:N—=Y7514 B:IXIT7U757h i A
N ROB— : — — iR ()
8 NEELIPEY 5 ol 1(731[:)3 6-6 40.9 5 (5+123) o
R:Fq—TAL Ny b B:Iay Pt et
@ 1—F—@&BIEf
13—7—
23— —
30—7+— 7,(5,8),6,1,3,2,4
43—+ — 7,5,8,6,1,3,4,2
[ RN
B OB 7 250/ 714K 5-7 100H B E 5-7 150H &R 5-6-7 130M
8 B 7 1009 6-7 150M B H 7-5 370 JEH 7-5-6 450
5 1004 5-6 130H
6 1009

ABICOVWTRDTEEERROODE. TR LIV,



